TM7EE ANIKAERRE GEIRE)

MEREERS
OE1E (Kigi4 - #03E)I1)
HKERH R7.4.9 R7,5.7 R7.6.4 R7.7,2
FRKEEZI 9:35 9:20 9:30 9:30
mEEg PEEEFR (mg/L) - 1.4 - 0.60
h BREBEZESR (mg/L) - 0.012 - 0.013
WBEEERVEMBEEE (me/L) - 1.4 - 0.6
fig e
Qs BEH UK £ - M)
HKERH R7.4.9 R7,5.7 R7.6.4 R7.7.2
FKEEZ 9:50 9:40 9:55 9:45
THEAEER (mg/L) - 1.9 - 1.2
ﬁﬁlﬁa BT ESR (mg/L) - 0.051 - 0.006
WEBEERRUERREZE (me/L) - 1.9 - 1.2
i =
QrEDIEXE (KI5 £ - 4053 1])
BKEAE R7.4,9 R7,5,7 R7.6.4 R7.7.2
FRKEFZI 10:10 10:00 10:15 10:05
HEBEER (mg/L) - 2.2 - 1.6
?EIEE BREBEER (mg/L) - 0.042 - 0.011
- 2.3 - 1.6

B ERR UEMBIEER (ma/L)
] Z

DHBREERRUVERBREZROAUELTOET,

1 R=D




@45 OK L2 - 311

BKEAR R7.4.9 R7,5.7 R7.6.4 R7.7,2
RKEFZ 11:40 11:15 11:30 10:55
HRIHL (mg/L) <0.0003 - <0.0003 -
2TV (mg/L) <0.1 - <0.1 -
Fie) (mg/L) <0.001 <0.001 <0.001 <0.001
AN iZA=PN (mg/L) <0.002 - <0.002 -
LS (mg/L) <0.001 - <0.001 -
#akER (mg/L) <0.0005 - <0.0005 -
PCB (mg/L) - - <0.0005 -
BYII=EL D] (mg/L) <0.002 - <0.002 -
mig bR (mg/L) <0.0002 - <0.0002 -
1,2-9/0aI42y (mg/L) <0.0004 - <0.0004 -
2 n A-ynaIFLy (mg/L) <0.002 - <0.002 -
B [L212-o9aA0TFLY (me/L) £0.004 - <0.004 =
B [111-r)Z0o0TEay (mg/L) <0.0005 - <0.0005 -
B [i12-ryrooT4ay (mg/L) <0.0006 - <0.0006 -
k)oooxTFLY (mg/L) <0.001 - <0.001 -
ThZYO0OTFLY (mg/L) <0.0005 - <0.0005 -
1,3->/an7aRy (mg/L) <0.0002 - <0.0002 -
Fo5L (mg/L) <0.0006 - <0.0006 -
PESD) (mg/L) <0.0003 - <0.0003 -
FARVALT (mg/L) <0.002 - <0.002 -
oty (mg/L) <0.001 - <0.001 -
LY (mg/L) <0.001 - <0.001 -
HEMEER (mg/L) 2.2 2.1 2 1.4
BIHBEER (mg/L) 0.019 0.021 0.011 <0.005
WEMERRUEMEMEESR (mg/L) 2.2 2.1 2 1.4
Aok (mg/L) 0.05 0.05 0.07 0.06
F5% (mg/L) <0.02 <0.02 <0.02 <0.02
1,4-OA XY (mg/L) <0.005 - <0.005 -
PI=I=L N (mg/L) - - - -
Fva-12-Y9A0IFLy  (mg/L) - - - -
12->/nn7n/sy (meg/L) - - - -
p-UyOONyEY (mg/L) - - - -
1I)XHF4> (mg/L) - - - -
FAT7o/Y (mg/L) - - - -
ZI=kAFF> (mg/L) - - - -
1VT0F+5> (mg/L) - - - -
X8 (mg/L) - - - -
/ans0=)L (mg/L) - - - -
JOEYER (mg/L) - - - -
EPN (mg/L) - - - -
SH0OIRR (mg/L) - - - -
B |[2z/7A0LT (mg/L) - - - -
B |47a~UERR (me/L) - - - -
#f [gAL=kETIY (mg/L) - - - -
b [ (mg/L) - - - -
B [¥LY (mg/L) - - - -
JINEEY TFLARY N (mg/L) - - - -
=L (mg/L) - - - -
E)ITY (mg/L) - - - -
TFUFEY (mg/L) - - - -
Bl EEZLE/X— (mg/L) - - - -
IES/OQERYY (mg/L) - - - -
2IVHY (mg/L) - - - -
o> (mg/L) - - - -
7z/—)L (mg/L) - - - -
RILLTILTER (mg/L) - - - -
A—t-AHFN71/)-IV (mg/L) - - - -
7= (mg/L) - - - -
24-v90071/-) (mg/L) - - - -
PFOSKR UPFOA (mg/L) - - - -
i
2R—=T




O FHE kg4 - #13#)11)
BRKE

AH R7.4.9 R7.5.7 R7.6.4 R7.7.2
FRKEEZI 10:50 10:50 10:45 10:25
g |REREESR (mg/L) - 2.0 - 1.8
h BHEBEESR (mg/L) - 0.010 - <0.005
WBEEERVEMREEE (ma/L) - 2.1 - 1.8
fig e
®;EREE T UK 4 - A1)
HKERH R7.4.9 R7,5.7 R7.6.4 R7.7.2
K 10:30 10:20 10:25 10:05
THEAEER (mg/L) - 2.4 - 29
ﬁﬁlﬁa BT ESR (mg/L) - 0.006 - <0.005
WEBEERRUERREZEE (me/L) - 2.5 - 2.9
& =
@EHE (K4 : H0EE)I1)
HKERH R7.4.9 R7,5.7 R7.6.4 R7.7,2
FRKEEZ 9:55 9:35 9:45 9:30
HEBEER (mg/L) - 2.9 - 4.2
?EIEE BREBEER (mg/L) - 0.011 - 0.006
WHBEERRUEBBEZE (me/L) - 3.0 - 4.2
fig =
@¥ LI OKigi - F 1)
HKERH R7.4.9 R7,5.7 R7.6.4 R7.7.2
RKEEZI 9:15 8:50 9:10 8:50
mEEg |REEEEFR (mg/L) 44 38 39 34
h HHEREESR (mg/L) 0.28 0.18 0.25 0.50
WEBEEERVERREZE (mag/L) 4.7 4.0 42 3.9
i e
@8hERE (Kigi4 I
FKERH R7.4.9 R7,5,7 R7.6.4 R7,7,2
FRKEFZI 10:30 10:25 10:55 10:30
THBMER (mg/L) - 3.0 - 3.7
?EIEE BHBEESR (mg/L) - 0.042 - 0.018
WHBEERRUEBREZE (me/L) - 3.1 - 3.7
i E
NHBEMERRUVBEHEBEEZEROABELTVET,
IR—T




@48 Okigis  FID

FKERB R7.4.9 R7,5.7 R7.6.4 R7.7,2
FRIKEEZI 9:00 8:45 9:00 8:45
HRSHL (mg/L) <0.0003 - <0.0003 -
&ITY (mg/L) <0.1 - <0.1 -
£h (mg/L) <0.001 <0.001 <0.001 <0.001
FAfiz0 L (mg/L) <0.002 - <0.002 -
it (mg/L) <0.001 - <0.001 -
#aIkER (mg/L) <0.0005 - <0.0005 -
PCB (mg/L) - - <0.0005 -
PYI=1=PT D (mg/L) <0.002 - <0.002 -
mig bR (mg/L) <0.0002 - <0.0002 -
1,2-9BAIRy (mg/L) <0.0004 - <0.0004 -
® [i~%oRIFLy  (me/L) <0.002 - <0.002 =
B [ z12-SHanTFL> (me/l) <0.004 - <0.004 -
B [111-rF)ZOo0Tas (mg/L) <0.0005 - <0.0005 -
B [Li2-rUponziy (mg/L) <0.0006 - <0.0006 -
r)ZAOTFLY (mg/L) <0.001 - <0.001 -
FhSHO00TFLY (mg/L) <0.0005 - <0.0005 -
13->Haon7ary (mg/L) <0.0002 - <0.0002 -
F5L (mg/L) <0.0006 - <0.0006 -
EOD (mg/L) <0.0003 - <0.0003 -
FARVAILT (mg/L) <0.002 - <0.002 -
oty (mg/L) <0.001 - <0.001 -
LY (mg/L) <0.001 - <0.001 -
HEMER (mg/L) 33 29 2.1 1.4
HHBMEESR (mg/L) 0.030 0.048 0.032 0.037
WEBEEERVERREZE (mag/L) 33 3.0 2.2 15
AoFk (mg/L) 0.04 0.04 0.04 0.06
F53% (mg/L) <0.02 <0.02 <0.02 <0.02
14-OA X5 (mg/L) <0.005 - <0.005 -
VISGOYN (mg/L) - - - -
FYA-1,2-9aRIFLY  (mg/L) - - = -
1,2->Haa7a/\> (mg/L) - - - -
p-CHOaR Uty (mg/L) - - - -
AIXYFA> (mg/L) - - - -
BAT7O/Y (mg/L) - - - -
Jz=FAFAFY (mg/L) - - - -
1J7T0F+5> (mg/L) - - - -
X8R (mg/L) - - - -
I=I=EI=1=y]) (mg/L) - - - -
JOEHEF (mg/L) - - - -
EPN (mg/L) - - - -
SH0O)LRR (mg/L) - - - -
E |[2z/79ALD (mg/L) - - - -
B |[470~UkRR (mg/L) - - - -
#|pOi=rODz> (mg/L) - - - -
- [V (mg/L) - - - -
B [¥FLY (mg/L) - - - -
FAVERY ITFARVI (mg/L) - - - -
=L (mg/L) - - - -
EYITY (mg/L) - - - -
ToOFEY (mg/L) - - - -
ElEEZILE/R— (mg/L) - - - -
IFH/OOEr)> (mg/L) - - - -
i (mg/L) - - - -
> (mg/L) - - - -
Jz/—)L (mg/L) - - - -
RILLTILTER (mg/L) - - - -
A—t=F9FIN 71/l (mg/L) - - - -
7= (mg/L) - - - -
2.4-Y"han7z/)—) (mg/L) - - - -
PFOSR UPFOA (mg/L) - - - -
i
4 R—




@ﬁ?%(ﬁdﬁ% (BRJID

HKERH R7.4.9 R7,5.7 R7.6.4 R7,7.2
FRKEEZI 10:00 9:50 10:00 9:45
g |REREESR (mg/L) - 238 - 4.8
h BHEBEESR (mg/L) - 0.031 - <0.005
WBEEERVEMREEE (ma/L) - 2.9 - 4.8
fig e
Q& FHRE KBS F&I)
HKERH R7,4.9 R7,5,7 R7.6.4 R7.7,2
FRKEEZ 8:50 8:30 8:35 8:30
T HEMESR (mg/L) 6.7 5.6 55 5.2
b BEEREER (mg/L) 0.070 0.044 0.05 0.15
WEMEERRUERBEZE (mg/L) 6.8 5.6 5.6 5.3
i e

D HBEERRUVREREZROARELTOES,

BEZ
@18 (k4 HnEa)I)
EEEAH - - - -
FiERZ - - - -
HRED L (mg/keBZilE) - - - -
£ (mg/keBZilE) - - - -
ZJ=FN (mg/keBZilE) - - - -
& [NEYBL (mg/keBZilE) - - - -
e (mg/keBZiE) - - - -
#ask R (mg/keBZilE) - - - -
O I (mg/keBLiE) - - - -
PCB (mg/keBZilE) - - - -
REVHE (%) - - - -
KH (BZIRBE) (%) - - - -
i =
A48 (K4 I
EEERH - - - -
FiERZ - - - -
HRED L (mg/keBZifE) - - - -
£ (mg/keBZifE) - - - -
0l (mg/keBZiE) - - - -
B [fivaL (mg/keFziE) - - - -
R (mg/keBZifE) - - - -
#akER (mg/keBZiE) - - - -
= TEyTe] (me/keBTE) - - - -
PCB (mg/keBZiE) - - - -
REVHE (%) - - - -
Ke (FZIRBE) (%) - - - -
fiis =z

5R—T




